SOLARMOUNT

TLL Low-Profile Tilt Legs
Installation Supplement 206.3

U.S. Des. Patent No. D496,248S, D496,249S. Other patents pending.

L-bracket

FIXED
LEG STRUT

(Special order)

Leg parts list (per leg) Figure 1. Leg and Foot Assembly: Illustrated
Wrench parts are from your leg kit and your SMR
rail set. Leg kit parts are listed in the parts

-
3.
1
oV
(@]
(7))
c

t

T
(?2
®
-
(g
4
oV )
-
c
5

Part Qey. stze inventory below.
Adjustable Leg
Leg tube I Leg tube Fender  3/8"
Leg strut | washer  bolt
L-bracket 2
Bolt, 3/8" x 1-1/4" 3 916" ‘ I -
Bolt, 3/8" x 3" | 916" _ |
Fender washer, 3/8" 2 - I )
Strut nut, 3/8" | . » 5
Flange nut, 3/8" 2 9/16" \_

Strut nut Leg strut
Fixed Leg Figure 2. Adjustable Leg Cross Section
Leg strut |
L'b"aCke"t ) 2 ) Please cover these illustrations
Bolt, 3/8" x I-1/4 3 9/16 thoroughly before proceeding.
Flange nut, 3/8" 3

The installer is solely responsible for
complying with applicable building
codes and for all aspects of electrical

®
(T ) installation of the PV array.
. . Pub 090619-2ii
[ 1 Use the parts list to verify that all parts June 2009
as are present. Note that Figures 1 and 3

Bright Thinking in Solar illustrate parts from both your leg kit and
your SMR rail set.

© 2009 by Unirac, Inc.

. . . . . . - . A . All rights reserved.
Unirac welcomes input concerning the accuracy and user-friendliness of this publication. Please write to publications@unirac.com. 8




i U N | RAC Installation Manual 206.3

TLL Low-Profile Leg Kit

SolarMount

Figure 3. Spacing between front and back feet (B) should
approximately equal the distance between the lower end of the module
and the upper L-bracket (A).

10 year limited Product Warranty, 5 year limited Finish Warranty

Unirac, Inc., warrants to the original purchaser
(“Purchaser”) of product(s) that it manufactures
(“Product”) at the original installation site that
the Product shall be free from defects in material
and workmanship for a period of ten (10) years,
except for the anodized finish, which finish

shall be free from visible peeling, or cracking or
chalking under normal atmospheric conditions
for a period of five (5) years, from the earlier

of I) the date the installation of the Product is
completed, or 2) 30 days after the purchase of
the Product by the original Purchaser (“Finish
Warranty”).

The Finish Warranty does not apply to any
foreign residue deposited on the finish. All
installations in corrosive atmospheric conditions
are excluded.The Finish Warranty is VOID if

- ae

2

IRAC

the practices specified by AAMA 609 & 610-02
—“Cleaning and Maintenance for Architecturally
Finished Aluminum” (www.aamanet.org) are not
followed by Purchaser. This Warranty does not
cover damage to the Product that occurs during
its shipment, storage, or installation.

This Warranty shall be VOID if installation of
the Product is not performed in accordance
with Unirac’s written installation instructions,
or if the Product has been modified, repaired,
or reworked in a manner not previously
authorized by Unirac INWRITING, or if the
Product is installed in an environment for which
it was not designed. Unirac shall not be liable
for consequential, contingent or incidental
damages arising out of the use of the Product by
Purchaser under any circumstances.

If within the specified Warranty periods the
Product shall be reasonably proven to be
defective, then Unirac shall repair or replace the
defective Product, or any part thereof, in Unirac’s
sole discretion. Such repair or replacement shall
completely satisfy and discharge all of Unirac’s
liability with respect to this limited Warranty.
Under no circumstances shall Unirac be liable
for special, indirect or consequential damages
arising out of or related to use by Purchaser of
the Product.

Manufacturers of related items, such as PV
modules and flashings, may provide written
warranties of their own. Unirac’s limited
Warranty covers only its Product, and not any
related items.

1411 Broadway Boulevard NE
Albuquerque NM 87102-1545 USA



